M e B EFFFET TR L0 FYRRE (8 F#R)
Fp BHERE  (FRFEF 2 ) $1F/22F

1.

TSR A SRR E — s M e B o A B B #L 2 E R I 0 A EKIH
AR A B B KREASHE ERERE A A B85 B A 0.5 (UK A FEE H type-
H 0.5 IR TIREE Ltype » A B AIEH C /2 HEE Ltype A Al H type
1y B ¥ raim iR H ERS Fy 102 7T H RS —RITEAATREIR A E T
10 7t ; L type 1Y B ¥#Z s iR e [Ei& £ 50 7T - H S —RITE S PTREAIR
FAAHETY 3 7T « R HEFTIEFFAIT © A S i L (A% P BT E 2RV IAEH C
A% BIERE P 81 C 2R E A E G DU BRSNS - 40
B 128 Sy HHURHTE % - HI B HZE(NT P-C BImTREE% 85 5 & HI B ZETH P A
REMETS i - fEEAL R BUE A HUE B 2 IRA—EITES > B ATEEEH
BT EFS SN ELRAE -
(1) EEEZ AR A By 48 T - $91HRE A BV E (8 P Bl E25AEH C 77
A Fyfo] 2
(2) et AR By 0 JT - P9MRE A BV B E (8 P S E 25 mEH C 57
Fyfa] ?
(EEAEERHEAT4ET)
G RRE A BB = HE S HIIRES =N EE (n=1,23) « A BDYEE
R E bR I - ABEKREIZEADEEK » OSEEIERKIASHEEFIERRA - &
bl B E R A& - FAESTE R q VE AR ERR kq ot HfiE q
RIFERVEE k AR IEAE S - A n BEHESE LA () A > T ANEZ
ErmRAE-BAFK 0 AEANEHE B R q ESREENENA A
log(1+q) » Er1 log(x) LA e Fs AV - X5 ETIHFO T © A Ssst =
HHEM 91 ~ 92 ~ g3 WEERFASEMEVE[E pl -~ p2 ~ p3 - RREAHEE T
Sy Rk —THE S E o SEZ R TR E -
(1) &z k=1 - (2)=40 - f(3)=20 - $flF A BYEE ql BliiE o3 o3 fl Fefa] 2
(2) fEax k=0.51(1)=8 f(2)= f(3)=1- 9t A HYE7HE q1 Bl iE o3 73 5l Ryfl ?
(EEAEERHEBARAT4ET)



Mo B FREFL AR LI FLHES (BFER)
P BHEARE  (FFEERF 2R $2F/£2F

(25%) 3. A firm has three plants. Plant one’s production function is y=16x>° x>°,

where y is the amount of output produced, and x; and x; are the amounts of factors 1 and
2 used, respectively. Plant 2’s production function is y = X, X,, and the production
function of plant 3 is y=16x**x2°. The unit prices of factors 1 and 2 are 8 and 2,

respectively. Find the cost function of this firm.

(25%) 4. A pure exchange economy contains two consumers. For i = 1, 2, the preference
of consumer i can be represented by the utility function

Ui(Xi1, Xi2) = Xi1 (4 — Xi2),
where Xj; and x;, are the amounts of commodities 1 and 2 consumed by consumer i,
respectively. The utility function implies that the first commodity is a “good”, and the
second a “bad”. Consumer 1 is endowed with 4 units of commodity 1 and 3 units of
commodity 2, and consumer 2 is endowed with 1 unit of commodity 1 and 0 unit of
commodity 2. Find a Walrasian equilibrium of this economy.



